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But if there is no storehouse he may make it - 792V XN K2 N7

Overview

The 773 inferred from the 71wn that if there is no storehouse above, one may make
a bakery, etc. (indicating that it is 707 20w [not like X27]). Our NMHOIN suggests an
(alternate) answer.
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The X723 could have also answered; the same rule will apply even if there is no
storechouse above, and nevertheless one cannot be T2, and the reason he
mentions the 7XIX is to inform us that the heat produced by these (the bakery,
dye store, etc.) damage the “XIN.

Summary
The X773 could have answered (as it did previously); the 771wn is merely teaching us

that these items can damage the XX.

Thinking it over
Mmoo writes that the X3 could have answered that indeed even if there is no XX

he is not permitted to be M0, etc. How could the X773 have said that, when in the
Xn11 it clearly states "IN TXIR? NATIP P2 NOT 77 OX', so it is obvious that if there
1S nO TXIX one may be 7m0 (not like xnw)?!3

" The n"27 N3 amends this to read 1¥8Y 7wy *377 (instead of 1XIXY Xwp X2277).
* This is the same (type of) answer the X3 gave on the previous (four) challenges to X21.
? See 0"mn and 7w v
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